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def aal(a):

m=1*(1+1/a) ** (a)

print (m)
a=l;aa(a) #2.0
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import math##Amathi¥é
e=math.e #&MeF &
print (e)#2.718

print (e**2) #7.38

print (e**-1) #0.368
print (e**-2) #0.135
print (e**-3) #0.05
print (e**-4) #0.02

print (e*x*-5) #0.006& A0
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import matplotlib.pyplot as plt
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import numpy as np ##Anumpy AR
print (np.e) ##ihe=2.718281828459045
X = np.arange (0, 5, 0.1)

# xBB5| > LIEH0F]5 0 dx=0.1

y=(np.e) ** (x) # 3+ A HF—ExH Ry » y A&
% 7

plt.plot (x,y) #4 h R B H
plt.axhline (y=0) #4& x4

plt.axvline (x=0) #4F iy

plt.show() ##AREMBEH
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# xBEF] > LEHR0FT > dx=1 0.135
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9.007
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import matplotlib.pyplot as plt
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import numpy as np ##Anumpy Lo
print (np.e) ##iHe=2.718281828459045 08
x = np.arange(0, 8, 0.1) 06

# xB %87 LAEH02I8 > dx=0.1
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plt.plot (x,y) #48 R EEH ” o 1 2 3 4 5 & 1 8
plt.axhline (y=0) #4& Hxd ()

plt.axvline (x=0) #4F v
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import numpy as np ##Anumpy AR

print(np.e) ### 2.718281828459045 -718281828459045
e=np.e g
x = np.arange (0, 8, 1) 0
# xBBF > LIEH0B]7 0 dx=1 0.
y=l-e** (-x) #3HEHE—Ex BByl > v $ 5| .
for i in range(8): 0
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import matplotlib.pyplot as plt
FBAGEL S .
import numpy as np ##Anumpy &
print (np.e) ##MiHe=2.718281828459045
X = np.arange(0, 8, 0.1)
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plt.axhline (y=0) #4F <
plt.axvline (x=0) #4F &y
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(1) FEEENXUATT > 48 ve () Bl v, (1) B[R -

import matplotlib.pyplot as plt

$ BN E A

import numpy as np ##Anumpy &
e=np.e #e=2.718281828459045 10
M=1000000;u=0.000001; 8

E=10;R=1*M;C=1*u; tau=R*C
t = np.arange (0, 5*tau, 0.1)

# tB %7 LA#0B|5*tau’ dx=0.1 ¢

yl=E* (1-e** (- (t/tau))) #vc(t) 2

y2=E*e** (- (t/tau)) #vr(t) .

plt.plot (t,yl) #& dve (t) REBH, Eé 0 i 2 3 4 :
plt.plot (t,y2) #4& Hvr (t) RKEH » FHé (6) ZFINHITE » BEEE v () » BHL
& BE vy (1)

plt.axhline (y=0) #4F tx ¥
plt.axvline (x=0) #4 &y
plt.show() ##AREWMBEH

(12) L EREZC - shIThs SRAlE (5) -
(13) LA BT sk BUE 2 - 5 L ESR R EREREIAY ve ~ v ~ i fH - HIIFE
W/(1 N

import math##H Amathik &

e=math.e #&MeF&

M=1000000;u=0.000001

E=10;R=1*M;C=1*u; tau=R*C;t=1 #EFMELFALE
ve=E* (1-e** (- (t/tau))) #vc(t)

vr=E*e** (- (t/tau)) #vr (t)

i=vr/R

print ("ve=",vc) #6.32

print ("vr=",vr) #3.68

print ("i=",1i) #3.68e-06
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SEBLESEER ¢~ B~ R~ CHTR - ELAS I ¢ B - B4 W o 0 e T
% ELAEATT :

t

v (t) = Ee k¢ ({R¥Ef > V) (B 7-2¢)
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